

Multiply by 10^{-3} (J)

Find each product.

$$96 \times 10^{-3} =$$

$$10 \times 10^{-3} =$$

$$50 \times 10^{-3} =$$

$$58 \times 10^{-3} =$$

$$74 \times 10^{-3} =$$

$$19 \times 10^{-3} =$$

$$33 \times 10^{-3} =$$

$$1 \times 10^{-3} =$$

$$6 \times 10^{-3} =$$

$$3 \times 10^{-3} =$$

$$98 \times 10^{-3} =$$

$$7 \times 10^{-3} =$$

$$72 \times 10^{-3} =$$

$$94 \times 10^{-3} =$$

$$22 \times 10^{-3} =$$

$$27 \times 10^{-3} =$$

$$48 \times 10^{-3} =$$

$$91 \times 10^{-3} =$$

$$67 \times 10^{-3} =$$

$$40 \times 10^{-3} =$$